BESTIIL

Hh—F& H—FRIAGR FImE R—FR2MI)L | RE/ZIIL HE2RF CEam
JCB—#tA—F 10/15(7K) 100,000 0 1,500 825 2,175
VIFH—h—F 10/15(7K) 100,000 0 1,500 825 2,175
ANAT Ay ZHh—K(— &) A3 ALA 300,000 6,000 10,000 14,300 5,700
YSFHI—ILRHh—F 10/15(7K) 400,000 6,000 15,000 10,400 19,600
ANAT Ay ZHh—K(— %) A=&37ALIA 500,000 12,000 18,000 14,300 21,700
YSFHhI—ILRHh—F 10/15(7K) 500,000 6,000 16,000 10,400 21,600
ANAT A9 ZD—F(—H8) A=#&37ALURA 600,000 12,000 19,000 14,300 23,700
VYSFHI—I)LEh—F 10/15(7K) 600,000 6,000 17,000 10,400 23,600
YSFHI—ILKHh—F 10/15(7K) 700,000 9,000 22,500 10,400 34,600
YSFHI—ILRAh—F 10/15(7K) 1,000,000 16,500 36,750 10,400 63,100
YSFHI—ILRH—F 10/15(7K) 1,500,000 24,000 53,000 10,400 95,600
ANAT AyHZT—LREA—F 2&37 AR 1,800,000 48,000 68,000 34,100 101,900
VYSFHT—I)LEh—F 10/15(7K) 1,800,000 24,000 56,000 10,400 101,600
YSFHI—ILKHh—F 10/15(7K) 2,000,000 39,000 80,500 10,400 150,600




